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In-class Quiz 5
)
Name:_________________________________________	CM: ______         Grade:_____/10 

1. (Review, 1 pt) a. Give MATLAB to store the entire green band of an image called img in a variable called green.


[bookmark: _GoBack]b.  What is the green band better for approximating than the other bands?

2. (2 pts) Compare and contrast local and global operators, giving an example of each.




3.  (
g
in
g
out
A
B
C
D
)(4 pts) Note how the intensity and contrast of an image would be affected by the following gray-level mapping function in the 4 intensity ranges given by the 4 parts of the piecewise curve.
Segments  A and C are at 45-degree angles with the horizontal, and D ends at (1.0,1.0): 

A: 

B: 

C: 

D:

4. (1 pt) How can we use grayscale mappings on color images?




(For your notes) You can write the formula for applying a 5x5 box filter as:




and the formula for applying a 5x5 Gaussian filter as:


Notice the only difference is the weights. 
We can apply these formulas by using weight matrices :
Box filter: 5x5 matrix of 1/25: in MATLAB, ones(5,5)/25,
The discrete approximation to a 5x5 Gaussian filter with  = 1: fspecial('gaussian', [5, 5], 1). 
Apply the filter by using cross-correlation (MATLAB’s filter2):
filter2(image, gaussianFilter, ‘replicate’)
More details in Lab 3…

5. (1) For what type of noise is median filtering especially suited?



6. (1) Tell your instructor about anything from today's session (or from the course so far) that you found confusing or still have a question about. If none, please write “None”. [You may always write comments to this effect, even if I don’t specifically ask for them!]
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